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V=T 741 )L : Sample4_1.java

(// BEzAEN

public class Sample4_1
{

public static void main(String[] args)
{

/] BHEE CHIHEE

int numl = 15;

int num2 = 3;

// numl & num2 DUORIGTE
int add;

add = numl + num2;

int sub;

sub = numl - num2;

int mul;

mul = numl * num2;

int div;

div = numl / num2;

StEBROEH
.out.println("{E&"

//
System

+ numl + "&*

BI8IE x TIR>EL
* (PR ZfENEY

V&I + TR>EL
/ (RAy) ZENET

+ num2 + "DUUAIETE .

System.
System.
System.

out.println("%0
out.println("Z=
out.println("#&

"+add);
"+sub);
"+mul);

System.

out.println("B = "+div);

\

")

S RIEE]

(1@ 15 & 3 DUUEIETE .
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System.out.println("ABC"+"DEF"); - ABCDEF
System.out.println("ABC"+50); > ABC50
System.out.println(20+50); > 70
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(/) BsH=8DETOTS N

N
import java.io.*; <:::> <:::> <:::> <:::>

public class Sample4 2
{

public static void main(String[] args) throws IOException

{
/] F—h— %R
BufferedReader br;
br = new BufferedReader(new InputStreamReader(System.in));

/] BHRDEE

int numl, num2, tmp;
int div; /] B
int mod; /] RO

/] BEDOAD

System.out.println("#EIRNETEIDEH#¥N2 DOEHEADLUTCLIIZSV) ");
System.out.println("1 DEDEHEADULTIZEL), ");

numl = Integer.parselnt(br.readLine( ));

System.out.println("2 DEDEHZANDLUTCLIIES0, ");

num2 = Integer.parselnt(br.readLine( ));

// BIRDTE
mod = numl % num2; // %3IROZHETDEEF

/] BOTE
tmp = numl - mod;
div = tmp / num2;

// FERDEH
System.out.println("I{" + numl+" + "+num2+" = "+div+" HEOD "+mod);

U Y

XTEB

ArT——— )
2 SOEHEAN LTSN,
1 SEOESEAN LTS,
11
2 SEOESREAN LTSS,
4
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++a BIBTYDOUXY K

TOUXY HBEEF

a-- B®ETUIUXVE
--a BIETOUXVE

++ ARV RFOEHDOEZ 1 IEOLET
BERBRIIRDXDICEDFT

R a ZREMWBRELULCHE, aDEZ1IBVLIET
EHaDEZ 1IBVOULCHE, a ZEERBRELIET

-- ARV RFOEHDOEZ1BSLET
BERRIIRDXDICIEDFT
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V—2I—Ffl

V=TI 74 )% : Sampled_3.java

(

public class Sample4 3
{

{

int al=0, a2=0;
int b=0, c=0;

b = al++;
C = ++a2;

al++;
++a2;

/] BUE& « BB VD IAY

public static void main(String[] args)

/] BEOES CHEME

System.out.println("al="+ al);
System.out.println("a2="+ a2);

/] A& « BB VDAY FDEL)

System.out.println("f&E& « BIE1 VDXV FZLET");
System.out.println("®&&1 2 'J X (b=al++;) b="+ b);
System.out.println("BI&1 V2D 'J X k(c=++a2;) c="+ c);
System.out.println("al="+ al);
System.out.println("a2="+ a2);

/] BIRTRNDE 11IBRDCT

System.out.println("S8JRTRE « BIE1 VDV IUXY EETEEIT");
System.out.println("EBE& VO UXU L al++; ");
System.out.println("BIE1 VO UXU L ++a2; ");
System.out.println("al="+ al);

System.out.println("a2="+ a2);
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BIRTEB - FIBT VDI UXY FETEZXT
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RABREF

BENS
RAREF

TBEBDIC IS
am=>b

&
a=amb

FECTT

RAREF

= BLDEZLDDELBICHRALTT
RERRIIMIICRASNEETT

| RABEF | IHDICRASNEE
A\ 10 NEERRTT
\'d
[ n=10
g
BHEDDEY

D nDEIL 10 ICENFET

o rAsszoESERORE LT
int n;
System.out.println(n=10);
ETDE 10 N BEEICHDASINET

o snosic. EncaLeEsEERT3cEsTEEY
int n=5;

n=n+2;

System.out.println(n);

ETDE 7HBEICENSINET

o RAESZ0E0ERATT
RASSFESOEEERENET ST CRVENTT

- EDESDER\TEERE L%, BEEEDCRALET
WEEREDCRASNEETY

BCIROKXDSTEBEFZANTRAETEET

a+=b g+ A a=a+b
a-=b BEHIA a=a-b
a*=b FS+A a=a*hb
a/=b RE+NA a=al/b
a%= b FR+AA a=a%b
ag& b GREBHHA a-a&hb
al=b SRIEAD+UA a=al|b
a~=b BEBOSRIBR0+HA a=a”b
a<=b ZLAYIF+HA a=a<<bh
a»=b HBYDIKHARA a=za»>»hb
a>»>=b [FSELEYTHR+A a=a>»>b
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o EatErA RS T OREEROEIE LT
int n=5;

System.out.println(n+=10);
EIDE 15 A BAEICHEDASINET

o snosic. EncateyEERTacstTEEY
int n=5;

n+=n;

System.out.println(n);

ETBE. 10 NBEICHEHSNET

@@ BERABEZOENEEEEMHSIERATY
SHRANBEEFESDEBESRRBREZIABIDCEFDIRNTT
V—=23— R4l
V=T 7+ )U% : Sampled_4.java
(1) wataramET EmE ELEIE )
public class Sample4 4
{

public static void main(String[] args)

{

int sum=e; // #ETRANDZEH. COTHHAL

[/ WBRBDX Y 2=

System.out.println("3 DDEHDIEETEZRDET, ");
System.out.println("1 DBDEHII 3");

sum += 3;

System.out.println("2 DEDOEHII5");

sum += 5;

System.out.println("3 DEDOEHII 2");

sum += 2;

// FRETORI
System.out.println("#85t[&" + sum + "TT, ");

U y

RTEB

(3 somsopsERnET, )
1 DBEOEHII 3
2 DBDOEHIIS
3 DBOEHII 2
\ﬁﬁﬁloﬁgo -
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YV —23— Rl

V=TI 74 )L : Sampled_5.java
r'// VI RNE&
public class Sampled4 5
{

public static void main(String[] args)

{

int i=2, ans;

/] VD~ EEH

ans =i << 1; // 1By hRAEN (218
System.out.println(ans);

ans =i > 1; // 1Ewvw RGN (0. 5)

System.out.println(ans);
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( A A
/] VD NBEOEE
public class Sample4_6
{
public static void main(String[] args)
{
int i;
short num=5;

/7 Ev RAIED

System.out.print("Y I kET ");

for(i=0;i<16;i++)
System.out.print(0xe001&(num>>(15-1)));

System.out.println("(b)");

/] VD REBEER
num <<= 2;

// Ev R5IEA

System.out.print("Y 7 & ");

for(i=0;i<16;i++)
System.out.print(0xe001&(num>>(15-i)));

System.out.println("(b)");

}

.

XTEB

37 Bl 0000000000000101(b)
3D % 0000000000010100(b)
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